DELHI PUBLIC SCHOOL, BHILAI

DATE : 20.09.2021 MiID TERM EXAMINATION (2021-22) Time : 3 Hours
CLASS : viIIi SUB. - MATHEMATICS Max. Marks : 80

General Instructions:
1. All questions are compulsory.
2. The question Paper consists of 30 questions divided into 4 sections : Section A, B, CandD.
There are 33 questions in the question paper.
Section A contains 6 questions of 1 mark each.
Section B contains 6 questions of 2 marks each.
Section C contains 10 questions of 3 marks each.
Section D contains 8 questions of 4 marks each.

........................................................................................................................................

» 2 questions of 2 marks each, 4 questions of 3 marks each and 3 questions of 4
marks each.

4. Use of Calculator in not permitted.

....................................................................................................................................

SECTION : A

........................................

01.

[

o 12
Simplify (2 i
02.  Express 0.2 in rational form

03.  Evaluate ( -1~)H3/2

4
04.  Find the Compound Interest on ¥ 8000 for 2 years at 10% Per annum.

0S. A line drawn through the midpoint of one side of a triangle
third side.

06.  Find Square of —16.
SECTION : B

07.  Find the least whole number by which 3468 should be mult
08.  State Playfair’s axiom with figure,

OR

Prove that two lines perpendicular to the same line are parallel to each other.

iplied to make it a perfect square.

09.  The population of a town is 80,000. It increases by 5% every year. What will be the
population after 3 years,

10.  Find x, if 351 = ¢

1
V53

OR
Simplify (7v2 + 11) (7vZ - 11)
12.  What least number must be added to 8743 to make it a perfect square.

SECTION : C

13.  Find the least number of 4 digit which is a perfect square,
OR
form a square. Find the number of students in each

11. Rationalise the deuminator

In a school choir 3481 students line up to
row.
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14.

15.

16.
17,

18.

19.

20.

21.
22.

23.

24.

25,

26.
27.
28.

29.

30.

Evaluate 10 — (—8)/3

OR
simplity . (v2)"° x (V2) "
Represent /5 on the number line.

OR
Find the side of a square ficld whose area is 67 sq. meter
Express 0.2341 in the form of p/q.
Find the compound interest on ¥ 12000 for 2 years at 12% per annum, interest being payable
half yearly.

OR _

At what rate percent of the C.I. will ¥ 1600 amount to X 2500 in 2 years.
ABCD is a quadrilateral and P,Q,R,S are the mid points of AB, BC, CD and AD
respectively. Show that PQRS is a parallelogram.
Draw any line AB and construct a line CD parallel to AB at a distance of 2.5 c¢m, froma
point on AB.
Give an example to show that product of two different irrational numbers is sometime
rational and sometime irrational.
Simplify : 7¥/81 + 331029
Find the cube root of 5832 by prime factorisation method

SECTION : D
Find by construction % of ten.

OR
Draw a line segment of 9 ¢m and divide it in the ratio of 1:2:3.

ABC is an isosceles triangle with AB=AC. D is the mid point of AB, DE|IBC meets AC at
E. Show that A ADE is isosceles. Write the property used,

OR
In A ABC, P, Q and R are the mid points of sides AB, AC and BC respectively. PQ and QR

are joined prove that BRQP is a parallelogram and PQ :% BC.
The difference between S.I and C.I on a sum of money for 2 years at 12 V2 % per annum is

T 25. Find the sum.

Simplify:  5.V54 — 2V16 + 43/686 .

Find +.00073441

Prove that \/2 is an irrational number (by method of indirect reasoning)

OR

Find the square root of 10 (correct to 3 decimal places).

A society collected T 92.16 each member contributed as many paisa as there were members.
Find the number of the members of the society.

Find the compound interest on X 64000 for 2 % years at 3% perfect Per annum.
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DELHI PUBLIC SCHOOL, BHILAI

DATE :17.09.2021  MID TERM EXAMINATION (2021-22) - Time : 1 % Hours

CLASS : VIll SUB. — INFORMATION AND Max. Marks : 50
COMMUNICATION TECHNOLOGY (ICT)

General Instructions:

1. This question paper contains two parts A and B. Each part is compulsory.
2. Part A carries 20 marks while part B carries 30 marks.
3. Part-A consists very short answer and case based MCQ Questions and Part-B is Descriptive Paper.

PART A (20 Marks)
. Fill in the blanks (1*5=5)
. The key is defined in order to show the uniqueness of the data.
is established between two tables based on the Primary Key.
tool is used to duplicate a part of an image.
. We can hide a layer by clicking on the icon.
is a protocol used to send e-mail messages over the internet.

A
1

2

3

4

3.

B. State True or False (1*5=5)
1

2

3

4

5

C

1

. Layers cannot be customised.
. Healing tool is same as Sharpen tool.
. You can run the query only once.
. There are two types of databases.
. Aserver is also called as host computer.
. MCQ’s (Multiple Choice Questions) (1*¥10=10)
. Which palette displays all layers?
a. Layers b. Brushes c. Channels d. None of the above
2. Which of the following menus used to apply filters on an image?
a. Image b. View c. Filters d. Layer
3. Which of these tools is used to repair dark spots on the image?
a. Text Tool b. Brush Tool ¢. Healing Tool d. Rectangle Tool
4. Which tool is used to show the image as the wet paint?
a. Sharp Tool b. Healing Tool ¢. Smudge Tool d. Clone Tool
5. Which feature in LibreOffice Base allows us to retrieve a data from a table?
a. Form b. Query c. Report d. None of these
6. Which of the following is an organised way of creating, editing and displaying data from the
table?
a. Report b. Query c. Form d. Table
7. The process of displaying the information from the table is called?
a. Query b. Form ¢. Report d. Wizard
8. Which of the following is not a date type in LibreOffice Base?
a. Number b. Text c. OLE d. Yes/No
9. describe a computer that is connected to a network.
a. Node b. Unit ¢. Device d. Attachment
10. A computer network that spans across the city can be called as?
a. lLan b. Man c. Wan d. Can

PART B (30 Marks)

Answer the following questions:
What is a protocol? (2)
What is flat file database? (2)
Why do we need a form in LibreOffice Base? (2)
What is the use of Dodge tool? (2)
What are the steps to delete a layer? (3)
What are the steps used to use the Blur tool? (3)
Name the two main views in which the form can be displayed. (3)
Differentiate between Table Data view and Table Design view. (3)
9. Whatis a computer network? Write its advantages. (5)
10. Write the steps used to apply filters on an image. (5)

WNDNPWN R



DELHI PUBLIC SCHOOL, BHILAI

DATE : 15.09.2021 MID TERM EXAMINATION (2021-22) Time : 3 Hours
CLASS : VIIi SUB. — SCIENCE Max. Marks : 80

General Instructions :

» There are 31 questions. All are compulsory.

»  Question no. 1to 6 carry 1 mark each.

> Question no. 7 to 15 carry 2 marks each.
> Question no. 16 to 27 carry 3 marks each.
>
>

Question no. 28 to 31 carry 5 marks each.
There are internal choices in some questions of 2 marks, 3 marks & all questions of 5 marks.

............................................................................................................................................................................

Q1. Which is the first step in the cultivation of crop ? (01)
Q2. Name the form of polyester which is replacing materials like glass and used for making
bottles and jars. (01)
Q3. Where is iron present in our body? | (01)
Q4. Name the very poisonous gas produced by the incomplete combustion of fuel. (01)
Q5. What are the units of inheritance in living organisms? (01)
Q6.  In which female reproductive organ does the embryo get embedded? (01)
Q7. What is weeding? Why is weéding necessary? (02)
Q8. How do microorganisms help in increasing soil fertility? (02)

Q9.  Explain why, the disposal of plastic wastes is a major problem. Give two reasons only. (02)
Q10. Consider the following elements:

Sodium, Sulphur, Carbon, Magnesium

Which of these elements will form:

(a) acidic oxides

(b) basic oxides 02)
Q11. Why.does a goldsmith blow air into the kerosene lamp flame with a blow- pipe ? (02)
QI2. What is the function of cell wall in a plant cell ? (02)
QI3  Give two differences between zygote and foetus. (02)
QI4. State two advantages of the drip system of irrigation. (02)

Q15. Choose the thermoplastics and thermosetﬁing plastics from the following:
~ Melamine, Polythene, Bakelite, polyvinyl chloride (02)

Q16. (a) What are weedicides? Name one weedicide .

(b) What Precaution should be taken while spraying weedicides? (03)

Q17. (a)What is Animal husbandry?
(b) What are the various practices necessary for raising animals for food and other purposes?

‘ (03)
QI8. State the causative microorganisms and modes of transmission of the following human
diseases: (a) Tuberculosis  (b) Measles  (¢) Malaria (03)
Q19.(a) How does a Vaccine work?
(b) Why are children given vaccination? (03)
Q20.(a) What is rayon? How is rayon formed?
(b) Give any two uses of rayon. (03)
Q21. State any three physical properties for believing that Aluminum is a metal. (03)

Contd...2



Q22. How do metals react with dilute acids? Explain with the help of an example.
- OR

Name the following:
(2) non metal which is very hard (b) non metal used as fuel

(03)

(c) non metal which is used for fertilizer ~ (d) non metal used in water purification process

(e) non metal essential for life (f) non metal used in crackers
Q23. Make a labelled diagram of candle flame.
QQ24.(a) What is combustion?

(b) What are the conditions necessary for combustion to take place? -
OR

(03)

(03)

What is global warming? State a harmful effects which can be caused by global warming.

Q25. Write one function of each
(a) Cytoplasm
(b) Nucleus
(c) Nerve cell
Q26. How does an Amoeba reproduce? Describe with the help of labelled diagram.
Q27. (a) What is metamorphosis?
(b) What is the difference between viviparous and oviparous animals? any two)
Q28. Give reason for the following
(a) Sodium and potassium are stored in kerosene
(b) copper cannot displace zinc from its salt solution ( zinc sulphate solution)
(c) copper metal is used for making electric wires
(d) graphite is used for making electrode in a cell
(e) immersion rods for heating liquids are made of metallic substances
OR
Compare chemical properties of Metals and Non metals. (Five properties)

Q29. What are fuels? State any four characteristics of an ideal fuel( good fuel)
OR

Explain Rapid combustion, Spontaneous combustion and Explosion with example.

Q30. (a) State three differences between plant cell and animal cell.
(b) What are unicellular organisms? Name two unicellular organisms.
OR
(a) What are pseudopodia in Amoeba? What are the functions of pseudopodia?
(b) Explain why, chloroplasts are found only in plant cell.

Q31.(a) Describe the ' in vitro fertilization ' technique of reproduction in humans.
(b) Differentiate between external and internal fertilization.
OR
(a) Draw labelled diagram of Female reproductive organ.
(b) Name the method of asexual reproduction in Hydra.
(¢) What purpose does the tail in a sperm serve?

(GG H{C2$:3):9) 1)

(03)
(03)

(03)

(05)

(05)

(05)

(05)
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DELHI PUBLIC SCHOOL, BHILAI

DATE : 22.09.2021 MID TERM EXAMINATION (2021-22) Time : 3 Hours
CLASS : Vi SUBJECT - ENGLISH Max. Marks : 80

............................................................................................................................................................................

General Instructions: 5
1. Read the instructions carefully before answering the questions.
2. Attempt all the questions in each section before going to the next section.
| 3. All the answers must be correctly numbered and written neatly.
| 4. For multiple choice questions, option numbers should be clearly specified along with the

answers.
5. The paper consists of 4 sections:
Section A- Reading (16 marks) Section B — Writing (18 marks)
| Section C — Grammar (16 marks) Section D — Literature (30.marks)
Section A- Reading (16 marks)
A.l. Read the passage given below and answer the questions that follow: [8]

1. Almond is considered the king of nuts. It reportedly originated in Iran. Arcient Romans,
however, called almonds “Greek nuts.” Its tree is closely related to peach, apricot and cherry,
all belonging to the genus prunus and bearing stone fruits.

2. It is an excellent source of calories and polyunsaturated fatty acids, potassium, magnesium,
iron and phosphorus. Copper in almonds is helpful in assimilation of its iron and the presence
of caleium, iron and phosphorous also is in right proportion for their casy assimilation.
Almonds are alkaline in effect. The skin of almonds is constipating and irritating for the

§ stomach. Bitter almond contains the deadly amygdalin; a cyanide containing compound

which, if taken in some quantity, could even cause death.

3. Edgar Caycee of Virginia Beach, USA, says, “Those who would eat two to three almonds
each day need never fear cancer. Those who would take a peanut oil rub each week need
never fear arthritis.

4. Almonds are a potent tonic for body. They impart strength to the brain, increase memory,
help in nervous disorders and insomnia and act as catalytic agent in purification of blood.
These also retard aging process. For this, take peeled almonds with cow’s milk and honey or
with honey and whole black pepper preferably before going to bed. Both intellectuals and
wrestlers have been taking almonds for centuries to their great advantage. Well ground peeled
almonds with cow’s or goat’s milk and honey help in upbringing of healthy brainy children,
and are good for throat and urinary infections.

Choose the correct option.

1. Almond is considered the King of nuts because — (1)

a. it has the excellent source of calories than all nuts. b. it is a source of vitamins.
c. itis alkaline in effect. d. it reportedly originated in Iran.

2. One should avoid eating the skin of almond because — 1
a. Itis not an excellent source of calories. b. It is bitter.
c. Itis constipating and irritating for the stomach. d. It belongs to the genus prunus

3. What is dangerous about almond is — 1)
a. its white nut b. its being very thin,
c. its bitter nut containing amygdalin. d. its sour taste.

4. Rubbing peanut oil each weak on body can save one from getting (1)
a. cancer b. arthritis
c. death d. throat infection

5. ‘For this, take peeled almonds’(para-4) ‘This’ here means — (1)
a. purification of blood. b. nervous disorder.
¢. healthy brains. d. retarding ageing process.

6. Almonds can keep one young because they- 1)
a. stop the ageing process. b. control youthfulness.
c. prolong childhood d. retard ageing process.

Contd...2
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7. Find a word from the passage (para-2) which means ‘absorption’.

8. Find a word from the passage (para-4) which is the antonym of ‘remove’.
A.2. Read the poem carefully and answers the questions that follow:

THE DAFFODILS

. I wandered lonely as a cloud

That floats on high o'er vales and hills,
When all at once I saw a crowd,
A host of golden daffodils;

Beside the lake, beneath the trees,
Fluttering and dancing in the breeze.
Continuous as the stars that shine
And twinkle in the milky way,

They stretched in never-ending line

. Along the margin of a bay:

Ten thousand saw I at a glance,

Tossing their heads in sprightly dance.
The waves beside them danced; but they
Outdid the sparkling waves in glee:

A poet could not but be happy,

In such a jocund company:

I gazed—and gazed—but little thought
What wealth the show to me had brought:
For oft, when on my couch I lie

In vacant or in pensive mood,
They flash upon that inward eye
Which is the bliss of solitude;
And then my heart with pleasure fills,
And dances with the daffodils.
William Wordsworth

Choose the correct option.

1.

s

Where did the poet see the daffodils 7
a. inthe valley b. in the garden
c. inthevillage d. near the lake and under the trees

What were the daffodils doing ?

a. dancing in the breeze b. were smiling

c. were talking d. were floating

The poet felt in daffodils company

a. lazy b. dull c. sad d. happy
Whom did the daffodil outdid in dance?

a. stars b. trees c. waves d.poet
The poet saw daffodils at a glance.

a. one thousand b. twenty thousand

c. ten thousand d thirty thousand

Whenever in low spirits the poet remembers the daffodils he
a. gets happy and feels like dancing with the daffodils

'b. wants to go back to the valley

c. feels alone
d. feels sad

Find a word in stanza 3 which means ‘to take a quick look’.
Find a word in stanza 5 which is the antonym of ‘misery’.

a
) o
8] - .

(D

(1)

1)
(1)

(1)

(1)

1)
(1)
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B1.

B2.

B3.

Section B- Writing (18 marks)

Dr. Priya Kaushik calls up her patient, Mrs. Sneha but Mrs. Sneha is not at home. Her son
Kartik receives the phone and leaves a message for his mother. Write 2, message, in about

50 words, using the given information. (5)
Dr. Kaushik - Is this A/24, Geeta Colony?
Kartik - Yes, May I know who is calling?

Dr. Kaushik - I am Dr. Priya Kaushik calling from Central Diagnostic Centre. I would like
. to speak to Mrs. Sncha.

Kartik - She is not at home right now.

Dr. Kaushik - Could you please tell her that I have seen all her test reports. They do not
show any serious problems and if there would be no improvement, we naight
take some more tests. I advise her to continue the same set of medicines for
a week and I have fixed her appointment with the cardiologist for four
o’clock at the Christ Hospital. She must reach there on time with all her
reports,

Kartik - Thank you, Doctor I will convey her the same.

You are Lalit/Lalita , Sports Secretary of Delhi Public School, Bhilai. The school is
conducting the selection trials for the CBSE Zonal Athletics meet. Draft a notice with all the
necessary details in about 50 words informing the students about the selection trials and
inviting them to participate in it. [5]

Write a story in about 120-150 words using the given hints. Give a suitable title. [8]

Hints : God promised a disciple to visit her — disciple cleans her house — waits for God — poor

Cl.

C2.

C3.

old lady knocks her door — disciple doesn’t help her — tells her not to waste her time —
next, beggar comes at her door step — she doesn’t entertain her either — F inally a child
knocks her door — she sends him away too — dreams of God that night — God tells her
that he had come thrice at her door step but she didn’t bother- lady disappointed — moral.
OR
You are Neeraj/Neerja, living at Pushpak Vihar, Steel Colony, Bhilai. Write a letter to your
friend sharing your experiences about your safe stay at home and utilising your free time for
your hobbies during the lockdown. (120 words).

It’s been a long we haven’t met due to lockdown. Started at the end of March 2020 —
initially not easy to stay inside for long — something which we experienced for the first time
— then changes the routine — caught up in a lot of work and hobbies — exercise in room to
keep fit — continuing my studies through online — reading e-books - newspapers online-
though lacked the school environment — not going out without any imp work - ‘using mask
and sanitizer regularly- share your experiences also.

Section C — Grammar (16 marks)

Choose the correct abstract noun from the given options and fill in the blanks. [1x2=2]
a. We all love
i. honest ii. honesty iii. honestly iv. hones
b. Our will last forever.
i. friendship ii. friend iii. friendly iv. friendlier
Choose the correct option for the underlined verb. [1x2=2]
a. Gouri is reading a comic.
i. Transitive verbii. Intransitive verb iii. Non-finite verb iv. None of these
b. Sam was really bad at gardening,
1. Infinite verb  ii. Finite verb iii. Participle iv. Gerund
Fill in the blanks with correct form of the verb. [1x2=2]
a. Riddhi _her day with a prayer everyday
i. start ii. starting 1ii. starts iv. Started
b. The temperature a lot yesterday.
i. fluctuate ii. fluctuating iii. fluctuats iv. fluctuated
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C4. Identify the kind of underlined adjectives (1x2=2]
a. Captain Vikram Batra was a brave soldier.
i. Adjective of quality ii. Adjective of quantity
iii. Demonstrative adjective iv. Possessive adjective
b. Rama is the only girl who has scored 100% marks in maths. .
i. Demonstrative adjective  ii. Interrogative adjective
iii. Emphasising adjective iv. Adjective of number
CS. Fill in the blanks with the appropriate verbs. [1x2=2]
a. The crowd loudly for the team. (Present continuous tense, cheers)
b. By 3 p.m. tomorrow, I the whole project (Future perfect tense, complete)
C6. Identify the kind of underlined adverbs. [1x2=2]

a. Seema hardly gets to meet her neighbours.
b. The baby slept soundly in his mother’s lap.

C7. Change the following sentences into passive voice [1X2=2]
(a) My father loves me (b) He is making a film
C8. Write the appropriate idioms for the following:- [1x2=2]

a) a favourable time or excellent occasions which should not be missed
b) to be bored, fed up or disheartened

Section D — Literature (30 marks)

D1. Read the following extracts and answer the questions that follow [3x3=9]
1. ‘Him shelter from rain,
And a mouthful of grain,

He wished only to borrow;
He’d repay it tomorrow;
If not, he must die of starvation and sorrow.’

a) Who is ‘him’ in the first line? [1]
b) What did he want? (1]
¢) From whom did he hope to borrow? [1]

2. ‘He held my hand and said, “I will hire you with my power.”
But his power counted for naught and he went away in his chariot.’

a) Who does ‘He’ refer to? [%]
b) Why did ‘he’ go away? [1]
¢) Name the poet of this poem. [1]

3. “The old lady was sitting in a wheelchair, her hands folded in her lap. She had silver white hair
pinned into a wispy bun. She was gazing out at the garden. “Hello I said” She turned and
looked up at me vacantly.”

a) Who was the old lady sitting in a wheelchair? (1]
b) Whom did she turn and look up at? [1]
¢) What is the meaning of ‘gazing out’? [1]
D2. Answer any three of the following questions in about 30 to 40 words eacl: [2x3=6]

a) Where had Tilly seen the sea behaving in the same strange fashion? ,

b) Mention two things that are (i) clear from the height (ii) not clear from the height
¢) Describe Macavity in two to three sentences.

d) The old man offered the speaker a lot of money. Why did he turn down the offer?

D3. Answer any one of the following questions in about 75 words. [05]
Why did Bepin Babu first hesitate to visit Mr. Mukherjee? Why did he finally decide to
phone him?

OR
How are Meghna and Almas’s stories similar?
D4. Answer any three of the following questions in about 30 to 40 ‘words each; [2x3=6]

(a) What was the bond which Shylock made Antonio sign?
(b) What did the witches tell Macbeth and Banquo when they first met them in the forest?
(c) How was the murder of Duncan arranged?
(d) What happened when Caserio visited Olivia?
D5. Answer any one of the following questions in about 75 words. [04]
How did Portia as doctor Balthazar help Antonio?
OR

What happened at the Banquet which Macbeth held for his lords?
CECECE TOEOT)
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General Instructions:
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Q.01

Q.02
Q.03
Q.04
Q.05

Q.06

Q.07
Q.08

Q.09

Q.10
Q.11
Q.12
Q.13

Q.14
Q.15

Q.16
Q.17
Q.18

There are 32 questions. All are compulsory.

Marks of each question are indicated against the question.

Questions from SI. No. 1 to 14 are very short answer questions. Each question carries 1 mark.
Questions from Sl. No. 15 to 26 are short answer questions. Each question carries 3 marks.
Questions from Sl. No. 27 to 30 are long answer questions, that carry 5 marks each.

Question no. 31 is based on map work in History 5 marks and 5 marks diagram from

Geography.
> Question no. 32 is diagram from Geography of 5 marks.
Name the Governor-General who devised the policy of Doctrine ofLapse? (1)
Who was the adopted son of Peshwa Baji Rao? (1)
Name the first Governor-General of India? (1)
On the bank of which river the first English factory was set up in 16517 (1)
Name the new system of revenue collection devised by an Englishman Halt Mackenzie
in 1822. , (1}
What is the most appropriate method to check the soil erosion in the coastal and dry
regions? : (1)
Which factor of soil formation determines the thickness of soil profile? (1)
Write the term in which different crops are grown in alternate rows at different times to
protect the soil from rain wash? (1)
In the biosphere living beings are inter-related and interdependent on each other for
survival. What is this life supporting system known as? (1)
What is the term for an exclusive right over any idea or invention? (1)
The Lok Sabha is usually elected once evéry how many years? (1)
How many members are nominated by the President for the Lok Sabha? (1)
Name the Act according to which sons, daughters and their mothers can get an equal
share of family property. (1)
Name the highest law making body of India? (1)
What objections did the sepoy have to the new cartridges that they were asked to use? (3)
OR .
What did the British do to protect the interests of those who converted to Christianity?
Describe the main features of the Permanent Settlement. (3)
Explain the system of “subsidiary alliance”. (3)
How did the last Mughal emperor live the last years of his life? (3)
OR -

Q.19

Q.20
Q.21
Q.22\
Q.23
Q.24
Q.25
Q.26

What do you mean by the term Colonization?

The Ganga-Brahmaputra plain of india is an overpopulated region. Why? Give three

reasons. : (3)
Why are some species of plants and animals on the verge of extinction? (1+1+1=3)
Write any three principles of sustainable development. (3)
Write any three reasons for land degradation today. (3)
Why does a democratic country need a constitution? (1+1+1=3)
What is Indian secularism? (1+1+1=3)
Write Six Fundamental Rights given to the Indian citizens by our Constitution. (V2 x6=3)
~ Why is it important to separate Religion from the State? (1+1+1=3)
OR
What do you understand by unpopular and controversial laws? How do people pressurise
the Parliament to change such a law? (1+2=3)
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Q.27 Why did the British government do surveys in India? What surveys did they do? (5)
OR
How did the assumption of Diwani benefit the East India Company?
Q.28  Why were the ryots reluctant to grow indigo? (5)
| : OR
In what ways did the British change their policies as a result of the rebellion of 18577
Q.29 Suggest five ways to conserve water resources. (5)
OR
Ninety percent of the world population occupies how much percent of land area? What
do you mean by landuse? What are the factors that determines the landuse pattern?

. (1+2+2=5)

Q.30 (a) Define Universal Adult Franchise. (2)

(b) Explain the composition of Lok Sabha. | (3)

OR ; _
(a) Define Federalism. (2)
(b) What do you understand by the term ‘rule of law’? (3)
Q.31 On the given outline map of India identify and label any Five of the following places:

' (1x5=5)

Q.32 Make a neat and labelled diagram of soil profile. -~ (5)




